
SAP ABAP table J_3R_T030K {Tax Accounts Determination}

J_3R_T030K

MANDT [CLNT (3)]

HIER_KEY [CHAR (5)]

DIF_CODE [CHAR (21)]

DIF_TYPE [CHAR (1)]

KTOPL [CHAR (4)]

SIGN [CHAR (1)]

ACCT_TARG [CHAR (10)]

ACCT_CORR [CHAR (10)]

J_3R_PBU_DIFFOBJ

MANDT [CLNT (3)]

HIER_KEY [CHAR (5)]

DIF_CODE [CHAR (21)]

 J_3R_T030K-DIF_CODE = J_3R_PBU_DIFFOBJ-DIF_CODE 
0..N

0..N

J_3R_PBU_HIER

MANDT [CLNT (3)]

HIER_KEY [CHAR (5)] J_3R_T030K-HIER_KEY = J_3R_PBU_HIER-HIER_KEY 0..N

0..N

J_3R_PBU_T004

MANDT [CLNT (3)]

HIER_KEY [CHAR (5)]

DIF_CODE [CHAR (21)]

KTOPL [CHAR (4)]

 J_3R_T030K-KTOPL = J_3R_PBU_T004-KTOPL 
0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 J_3R_T030K-ACCT_CORR = SKA1-SAKNR 

0..N

0..N

 J_3R_T030K-ACCT_TARG = SKA1-SAKNR 

0..N

0..N

T000

MANDT [CLNT (3)]

 J_3R_T030K-MANDT = T000-MANDT 

0..N

0..N


